RO NO. coreesersssssrsnssssnasasesasaseaes

DD-2373

M. A. (Previous) EXAMINATION, 2020

ECONOMICS
Paper Third
(Quantitative Methods)
Time : Three Hours
Maximum Marks : 100
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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What do you mean by Linear Programming ? Explain
Maximisation problem with the help of geometric
method. '
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What do you mean by Production Function ? Explain
Cobb-Douglas Production Function.
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Write the meaning of correlation anq re

o S , gression and
explain their utility in Economic Analyg;g.
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Calculate the both regression equations from the

following data :
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What is meant by association ? Bringout the

difference between total and partial association.
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From.the following data, calculate the coefficient of
association between literacy and unemployment :

Total adult population 200
Literate population 40
Unemployed population 12

Literate and unemployed population 4
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25 23
30 26
35 30
40 35
45 42
50 51
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Distinguish between a census and sampling investigation
and briefly discuss their merits and demerits,
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63, 63, 66, 57, 68, 69, 70, 70, 71, 71
T didel B GEW @ W GAW P, 5w § afwa
ST 66 39 8, TG BT
Note : Table value of ‘¢ for d. f. = 09, £,s = 2.262.

Ten individuals are chosen at random from a universe
(population) and their heights are found to be in inches :

63, 63, 66, 57, 68, 69, 70, 70, 71, 71

In the light of these data, find the suggestion that the
mean height in the universe is 66 inches.

Note : Table value of ‘¢’ ford. f. =09, ¢ o5 = 2.262.
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